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dim
array(c(),dim)
morm

pnorm

mean

stdev

dig
round(a,dig)
sum

ifelse

abs

sqrt
L-pft_dndf2)
function(x)

Mean

sd

per.out
D.alpha
before

loops
count.Homo
count.normal
count.loop

error
tr

S-PLUS 2000 '

p-value

S-PLUS 2000

Lilliefor
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y

F.levene

p.levene p-value
positive

D

total, lambda

transform

data, transform

counter

Ft.levene

p.value.Lt p-value
Dt

F.cal

p.value.Ft p-value
p.p.outliers

power.normal

complete.loop

power.FO.0l
power.F0.05

S-PLUS 2000 ( )

Levene

Levene

Lilliefor

Levene
Levene

Lilliefor



(*** *'k*)

k<3
<-5
D.alpha <- 0.220
dd <- ¢(0,0,0,20.20,26.94,33.67,37.34,49.79,62.23,53.53,71.37,89.21)
sd <- ¢(15,20,25,15,20,25,15,20,25,15,20,25)
loops <- 500
per.out <- 10
before <- round((per.out/100)*(k*n))

(*** ***)

# Keep Number of Outliers After Transformation
after.outlier <- array(,dim=c(loops,8))

# Keep Number of Normality

Normal <- array(,dim=c(loops,8))

# Keep Number of Homogeneity of Variance
count.Homo <- array(,dim=c(loops,8))

# Keep p-value of F-Test After Transformation
p.value.Ft <- array(,dim=c(loops,8))

# Count the completely assumption loops
count.loop <- array(,dim=c(loops,8))

(*** ****)
for (var in 1:12)

{

for (loop in L:loops)

{
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{# normal2

{#Homo
repeat
{# normal

repeat
{#positive data

# Generate Error Normality

erl <- array(morm(n,0,sd[var]),dim=c( ,1))
er2 <- array(morm(n,0,sd[var]),dim=c( ,1))
erd <- array(morm(n,0,sd[var]),dim=c( ,1))

# Define Treatment Effect

d <- ddfvar]

tr <- ¢(-0/2,0,d/2)

# Generate Data Observation

Mean <- 50

yl <-array(,dim=c( ,1))

y2 <-array(,dim=c( ,1))

y3 <-array(,dim=c( ,1))

for(iin 1)

{
y1[i] <- Mean+tr[l]+erl[i]
y2[i] <- Mean+tr[2]+er2[i]
y3[i] <- Mean+tr[3]+er3]i]

}

y <- matrix(c(yl,y2,y3), k)
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# Checking Positive Data
positive <- 0
for(iin 1)
{
for(j in 1:k)
{
IEXy[1J] > 0) positive <- positive+1
}
}

ifXpositive == (k*n)) break
}#positive data
#Checking Normality By Lilliefor
MU <- mean(y)
SD <- stdev(y)
sort.y <- sort(y)
Fxi <- array(,dim=c(k*n))
Sxi <- array(,dim=c(k*n))
for(i in L:(k*n))
{
Fxi[i] <- pnorm(sort.y[i],MU,SD)
Sxi[i] <- i/(k*n)
}
D <- round(max(ahs(Fxi-Sxi)),dig=3)
if(D < D.alpha) break
} #normal
# Levene ' Test For Homogeneity of Variances
mean.y 1<- mean(yl)
mean.y2 <- mean(y2)
mean.y3 <- mean(y3)
x| <-abs(yl-mean.yl)



(***

X2 <- abs(y2-mean.y2)
X3 <- abs(y3-mean.y3)

x <- ¢(xI,x2,x3)
sum.x <- sum(x)
SST <- sum(xA2)-((sum.xA2)/(k*n))
sum.sq.trl <- (sum(x 1)A2)/n
SUM.Sq.tr2 <- (sum(x2)A2)In
SUM.Sq.tr3 <- (sum(x3)A2)/n
sum.sq.tr <- ¢(sum.sq.trl,sum.sq.tr2,sum.sq.tr3)
SSTr <- sum(sum.sg.tr)-((sum.xA2)/(k*n))
SSE <- SST-SSTr
F.levene <- (SSTr/(k-1))/(SSE/(k*(n-1)))
# Calculate p-value of Levene ' Test
p.levene <- round(l-pfl(F.levene k-1,k*(n-1)),dig=3)
if(p.levene > 0.05) break

}# Homo

***)

# Detect Outliers

sort.data <- array(,dim=c(l,k*n))
sort.data <-sort(y)

po.ql <- round((1/4)*(k*n+1))
ql <- sort.data[po.ql]

p0.q3 <- round((3/4)*(k*n+l))
g3 <- sort.data[po.q3]

iqr <- q3-ql

lo <- ql-1.5*igr

uo <- g3+1.5%iqr
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# Full option Data
check <- 0
for (1in LK)
{
forjinl )
{
ify[j,i] < lo) check <- check+1
if (y[j,I] > Uo) check <- check+1

}

}
iffcheck <= hefore) break

}# check

# Fill Outliers

ifl(check < before)

{#if

beforeO <- before-check

# Randomization Process

a<- array(,dim=c(beforeQ))

bl <- array(,dim=c(beforeQ))

b2 <- array(,dim=c(beforeQ))

set.a <- ¢( 10:50)

set.ol <-¢(1,23)

seth2 <-¢(] )

prob.a <- ¢(L/41)

prob.bl <- ¢(113)

prob.b2 <- ¢(I/n)

a<- sample(set.a,size=heforeO,prob.a)

bl <- sample(set.bl,size=beforeO,prob.bl)
b2 <- sample(set.h2,size=hefore0,prob.h2)
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# Define Outliers in Observations
for(i in L:beforeQ)

{
ifXbli] == 1) {y[b2filbI[i]] <- gl-((L5+(a[i]/100))iqr) }
ifxli] ==2) {y[b2Lil bI[if] <-gl-((L.5+(a[i]/100))iqr) }
iDL == 3) {y[b2[i] bIi]] < q3+((L5+{[i)/L00)¥igr)}
}
Yif
AChecking Normality By Lilliefor
MU <- mean(y)
SD <- stdev(y)
Sort.y <- sort(y)
Fxi <- array(,dim=c(k*n))
Sxi <- array(,dim=c(k*n))
for(i in 1:(k*n))
{
Fxi[i] <- pnorm(sort.y[i],MU,SD)
Sxi[i] <- il(k*n)
}
D <- round(max(abs(Fxi-Sxi)),dig=3)
iftD < D.alpha) break
}#normal 2
# Levene " Test For Homogeneity of Variances
mean.y 1 <- mean(y[,1])
mean.y2 <- mean(y[,2])
mean.y3 <- mean(y[,3])
x| <- abs(y[,|]-mean.yl)
X2 <- abs(y[,2]-mean.y2)
X3 <- abs(y[,3]-mean.y3)
« < o(xIx2,x3)



(***

sum.x <- sum(x)

SST <- sum(xA2)-((sum.xA2)/(k*n))

sum.sq.trl <- (sum(x1)A2)/n

sUM.sq.tr2 <- (sum(x2)A2)in

Sum.sq.tr3 <- (sum(x3)A2)in

sum.sq.tr <- ¢(sum.sq.trl,sum.sq.tr2,sum.sq.tr3)
SSTr <- sum(sum.sq.tr)-((sum.xA2)/(k*n))

SSE <- SST-SSTr

F.levene <- (SSTr/(k-1))/(SSE/(k*(n-1)))

# Calculate p-value of Levene ' Test
p.levene <- round(l-pf{F.levene k-1 k*(n-)),dig=3)
IfXp.levene > 0.05) break

}# Homo2

***)

# The Box-Cox of Transfromation
total.lambda <- ¢(-2,-1 5-1,-0.5,0,0.5,1.5,2)
data.transform <- array(,dim=c( k))

for (L in 1:8)

{

lambda <- total.lambda[L]
transform <- function(x)
{retum(( Ylambda)*(xAambda)-1)}
In.transform <- function(x)
{retum(log(x,base=exp( 1))}
iftlambda==0)

{
}

else

{

data.transform <- In.transform(y)
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data.transform <- transform(y)
}
counter<- 0
# Check Heterogeneity of Variances After Transformation
yl.t <- data.transform[,|]
y2.t <- data.transform[,2]
y3.t <- data.transform[,3]
mean.yl.t <- mean(yl.t)
mean.y2.t <- mean(y2.t)
mean.y3.t <- mean(y3.t)
XLt <- abs(y Lt-mean.y Lt)
X2.t <- abs(y2.t-mean.y2.t)
x3.t <-abs(y3.t-mean.y3.1)
Xt <-c(xLtx2.tx3.1)
Sum.X.t <- sum(x.t)
SST.t <- sum(x.tA2)-((sum.x.tA2)/(k*n))
sum.sq.trl.t <- (sum(xL.t)A2)/n
SUM.SQ.tr2.t <- (sum(x2.t)A2)/n
sum.sg.tra.t <- (sum(x3.t)A2)/n
SUM.Sq.tr.t <- c(sum.sq.trl.t,sum.sq.tr2.t,sum.sq.tr3.t)
SSTr.t <- sum(sum.sa.tr.t)-((sum.x.tA2)/(k*n))
SSE.t <- SST.t-SSTr.t
Ft.levene <- (SSTr.t/(k-1))/(SSE.t/(k*(n-I)))
# Calculate p-value of Levene ' Test
p.value.Lt <- round(l-pf(Ft.levene)k-1,k*(n-1)),dig=3)
if(p.value.Lt > 0.05)
{
count.Homo[loop,L] <- 1
counter <- counter+1

else



count.Homo[loop,L] <- 0
}
MUi <- mean(data.transform)
SDi <- stdev(data.transform)

# Checking Normality After Transformation
sort.t <- sort(data.transform)
Fxit <- array(,dim=c(k*n))
Sxit <- array(,dim=c(k*n))
for(i in I:(k*n))
{
Fxit[i] <- pnorm(sort.t[i],MUi,SDi)
Sxit[i] <- if(k*n)
}
Dt <- round(max (abs(Fxit-Sxit)),dig=3)
if(Dt < D.alpha)
{
Normal[loop,L] <- 1
counter <- counter+1

}

else {Normal[loop,L] <- 0}

# Detect Outliers After Transformation
sort.data.t <- array(Him=c(l,k*n))
sort.data.t <-sort(data.transform)

p0.qLt <- round((I/4)*(k*n+))
qLt<-sort.data.t[po.q 1]

00.3.t <- round((3/4)*(k*n+l))

3.t <- sort.data.t[po.q3.]

iqr.t <- q3.t-ql.t

lo.t <- ql.t-1.5%iqr.t

Uo.t <- g3.t+1.5%igr.t
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after <-0

for (i in L:(k*n))

{
if (sort.data.t[i]<=lo.t) after <- after +1
if (sort.data.t[i]>=uo.t) after <- after +1

}

after.outlier[loop,L] <- after

#F-Test After Transformation
iffcounter= =2)
{
matrix.data.t.y <- data.transform
mean.ty <- mean(matrix.data.t.y)
sum.t.y <- sum(matrix.data.t.y)
SST <- sum(matrix.data.t.yA2)-((sum.t.yA2)/(n*k))
ss.tr <- array(,dim=c(k))
for (i in k)
{
ss.tr[i] <- sum(matrix.data.t.y[,i])A2
}
SSTr <- (sum(ss.tr)in)-((sum.t.yA2)/(n*k))
SSE <- SST-SSTr
F.cal <- (SSTri(k-1))/(SSE/(k*(n-1)))

# Calculate p-value of F-Test After Transformation
p.value.Ft[loop,L] <- round(l-pf(F.cal,k-L,k*(n-1)),dig=5)
count.loop[loop,L] <- 1

else

p.value.Ft[loop,L] <- 1



count.loop[loop,L] <- 0

}
print(loop)

# Calculate proportion of Number of Outliers
p.p.outliers <- array(,dim=c(12,8))
for (LL in 1.8)

{

p.p.outliers[var,LL] <- round(sum((before-after.outlier[,LL])/before)/loops,dig=5)

}

print(p.p.outliers[var,))

#Compute Proportion Accept Ho of Bartlette * Test
p.p.Homo <- array(,dim=c(12,8))
power.Homo <- array(,dim=c(12,8))
for(LL in 1.8)
{
p.p.Homo[var,LL] <- sum({count.Homo[,LL})
power.Homo[var,LL] <- round(p.p.Homo[var,LL]/loops,dig=5)

}

print(power.Homo{var,])

#Compute Proportion Accept Ho of Normality Test
p.p.Normal <- array(,dim=c(12,8))
power.Normal <- array(,dim=c(12,8))
for(LL in 1:8)
{
p.p.Normal[var,LL] <- sum(Normal[,LL])
power.Normal[var,LL] <- round(p.p.Normal[var,LL]/loops,dig=5)

}

print(power.Normal[var,))
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# Compute Power of F-Test at 0.01
p.p.FO.0l <- array(dim=c(12,8))
power.F0.01 <- array(,dim=c(12,8))
for(LL in 1:8)

{

count.F0.01 <- ifelse(p.value.Ft[,LL] < 0.01,1,0)

p.p.FO.Ol[var,LL] <- sum(count.FO.Ol)

power.F0.01[var,LL] <- round(p.p.F0.01[var,LL]/sum(count.loop[,LL]),dig=5)
}
print(power.F0.01[var,])

# Compute Power of F-Test at 0.05
n.p.F0.05 <- array(dim=c(12,8))
power.F0.05 <- array(,dim=c(12,8))
for(LL in 1:8)
{
count.F0.05 <- ifelse(p.value.Ft[,LL] < 0.05,1,0)
p.p.F0.05[var,LL] <- sum{count.F0.05)
power.F0.05[var,LL] <- round(p.p.F0.05[var,LL]/sum(count.loop[,LL]),dig=5)

}
print(power.F0.05[var,])

# Count Completely Assumption Loops
complete.loop <- array(,dim=c(12,8))

for(LL in 1:8)

{

complete.loop[var,LL] <- sum(count.loop[,LL])

}

print(complete.loop|var,])
print(" ")
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-0.0046
-0.0046
-0.0046
-0.0045
-0.0045
-0.0045
-0.0045
-00044
-0.0044
-0.0044
-00044
-0.0043
-0.0043
-0.0043
-0.0043
-0.0043
-0.0042
-0.0042
-0.0042
-0.0042
-0.0041
-0.0041
-0.0041
-0.0041
-0.0041
-0.0040
-0.0040
-0.0040
-0.0040
-0.0040
-0.0039
-0.0039
-0.0039
-00039
-0.0039
-0.0038
-0.0038
-0.0038
-0.0038
-0.0038
-0.0037
-0.0037
-0.0037

001

0.0248
0.0247
0.0247
0.0247
0.0247
0.0246
0.0246
0.0246
0.0246
0.0246
0.0245
0.0245
0.0245
0.0245
0.0244
0.0244
0.0244
0.0244
0.0243
0.0243
0.0243
0.0243
0.0243
0.0242
0.0242
0.0242
0.0242
0.0241
0.0241
0.0241
0.0241
0.0241
0.0240
0.0240
0.0240
0.0240
0.0240
0.0239
0.0239
0.0239
0.0239
0.0239
0.0238
0.0238
0.0238
0.0238
0.0238
0.0237
0.0237
0.0237

0.0254
0.0254
0.0255
0.0255
0.0255
0.0256
0.0256
00257
0.0257
0.0257
0.0258
0.0258
0.0259
0.0259
0.0259
0.0260
0.0260
0.0260
0.0261
0.0261
0.0262
0.0262
0.0262
0.0263
0.0263
0.0263
0.0264
0.0264
0.0264
0.0265
0.0265
0.0266
0.0266
0.0266
0.0267
0.0267
0.0267
0.0268
0.0268
0.0268
0.0269
0.0269
0.0269
0.0270
0.0270
0.0270
0.0271
0.0271
0.0271
0.0272

0.0746
0.0746
0.0745
0.0745
0.0745
0.0744
0.0744
0.0743
0.0743
0.0743
0.0742
0.0742
0.0741
0.0741
0.0741
0.0740
0.0740
0.0740
0.0739
0.0739
0.0738
0.0738
0.0738
0.0737
0.0737
0.0737
0.0736
0.0736
0.0736
0.0735
0.0735
0.0734
0.0734
0.0734
0.0733
0.0733
0.0733
0.0732
0.0732
0.0732
0.0731
0.0731
0.0731
0.0730
0.0730
0.0730
0.0729
0.0729
0.0729
0.0728

351
352
353
354
355
356
357
358
359
360
361
362
363
364
365
366
367
368
369
370
n
372
373
374
375
376
377
378
379
380
381
382
383
384
385
386
387
388
389
390
301
392
393
394
395
396
397
398
399
400

(=04
"
y
001
L

-0.0037 0.0237
-0.0037 0.0237
-0.0036 0.0236
-0.0036 0.0236
-0.0036 0.0236
-0.0036 0.0236
-0.0036 0.0236
-0.0035 0.0235
-0.0035 0.0235
-0.0035 0.0235
-0.0035 0.0235
-0.0035 0.0235
.0.0034 0.0234
-0.0034 0.0234
-0.0034 0.0234
-0.0034 0.0234
-0.0034 0.0234
-0.0034 0.0234
-0.0033 0.0233
-0.0033 0.0233
.0.0033 0.0233
-0.0033 0.0233
-0.0033 0.0233
-0.0032 0.0232
-0.0032 0.0232
-0.0032 0.0232
-0.0032 0.0232
-0.0032 0.0232
.0.0032 0.0232
-0.0031 0.0231
.0.0031 0.0231
-0.0031 0.0231
-0.0031 0.0231
-0.0031 0.0231
-0.0031 0.0231
-0.0030 0.0230
-0.0030 0.0230
-0.0030 0.0230
-0.0030 0.0230
-0.0030 0.0230
-0.0030 0.0230
-0.0029 0.0229
-0.0029 0.0229
.0.0029 0.0229
-0.0029 0.0229
-0.0029 0.0229
-0.0029 0.0229
.0.0028 0.0228
-0.0028 0.0228
.0.0028 0.0228

0.05
L
0.0272  0.0728
0.0272  0.0728
0.0273  0.0727
0.0273  0.0727
0.0273 00727
0.0274  0.0726
0.0274  0.0726
0.0274  0.0726
0.0275  0.0725
0.0275  0.0725
0.0275  0.0725
0.0275  0.0725
0.0276  0.0724
0.0276  0.0724
0.0276  0.0724
0.0277  0.0723
0.0277  0.0723
0.0277  0.0723
0.0278  0.0722
0.0278 00722
0.0278  0.0722
00279 00721
0.0279  0.0721
0.0279  0.0721
0.0279  0.0721
0.0280  0.0720
0.0280  0.0720
0.0280  0.0720
0.0281  0.0719
00281  0.0719
00281  0.0719
00281  0.0719
0.0282  0.0718
0.0282  0.0718
0.0282  0.0718
0.0283  0.0717
0.0283  0.0717
0.0283 00717
0.0283  0.0717
0.0284 00716
0.0284  0.0716
0.0284  0.0716
0.0285  0.0715
0.0285  0.0715
0.0285 00715
0.0285  0.0715
0.0286  0.0714
0.0286  0.0714
00286  0.0714

0.0286

0.0714



401
402
403
404
405
406
407
408
409
410
411
412
413
414
415
416
417
418
419
420
421
422
423
424
425
426
421
428
429
430
431
432
433
434
435
436
437
438
439
440
441
442
443
444
445
446
447
448
449
450

001
L

-0.0028
-0.0028
-0.0028
-0.0027
-0.0027
-0.0027
-0.0027
-0.0027
-0.0027
-0.0027
-0.0026
-0.0026
-0.0026
-0.0026
-0.0026
-0.0026
-0.0025
-0.0025
-0.0025
-0.0025
-0.0025
-0.0025
-0.0025
-0.0024
-0.0024
-0.0024
-0.0024
-0.0024
-0.0024
-0.0024
-0.0023
-0.0023
-0.0023
-0.0023
-0.0023
-0.0023
-0.0023
-0.0022
-0.0022
-0.0022
-0.0022
-0.0022
-0.0022
-0 0022
-0.0021
-0.0021
-0.0021
-0.0021
-0.0021
-0.0021

0.0228
0.0228
0.0228
0.0227
0.0227
0.0227
0.0227
0.0227
0.0227
0.0227
0.0226
0.0226
0.0226
0.0226
0.0226
0.0226
00225
0.0225
0.0225
0.0225
0.0225
0.0225
0.0225
0.0224
0.0224
0.0224
0.0224
00224
0.0224
0.0224
0.0223
0.0223
0.0223
0.0223
0.0223
0.0223
0.0223
0.0222
0.0222
0.0222
0.0222
0.0222
0.0222
0.0222
0.0221
0.0221
0.0221
0.0221
0.0221
0.0221

: pU=d 4
1 v .
2
0.05

L :
0.0287  0.0713 451
00287  0.0713 452
00287  0.0713 453
0.0287  0.0713 454
0.0288  0.0712 455
0.0288  0.0712 456
0.0288  0.0712 457
0.0289 00711 458
0.0289 00711 459
0.0289  0.0711 460
0.0289 00711 461
0.0290  0.0710 462
0.0290  0.0710 463
0.0290 0.0710 464
0.0290  0.0710 465
00291 ~ 0.0709 466
00291 ~ 0.0709 467
00291 0.0709 468
00291 ~ 0.0709 469
0.0292 ~ 0.0708 470
00292  0.0708 471
0.0292 = 0.0708 472
00292  0.0708 473
0.0293  0.0707 474
0.0293  0.0707 475
0.0293 00707 476
0.0293  0.0707 477
0.0294  0.0706 478
0.0294  0.0706 479
00294  0.0706 480
0.0294  0.0706 481
0.0294  0.0706 482
0.0295  0.0705 483
0.0295  0.0705 484
0.0295  0.0705 485
0.0295  0.0705 486
0.0296  0.0704 487
0.0296  0.0704 488
0.0296  0.0704 489
0.0296  0.0704 490
0.0297  0.0703 491
0.0297  0.0703 492
0.0297  0.0703 493
0.0297 00703 494
00298  0.0702 495
00298  0.0702 496
0.0298  0.0702 497
0.0298  0.0702 498
0.0298 00702 499
0.0299  0.0701 500

L()
\
1(%\%
A n*
2 y
001
L
00021 00221
00021 0.0221
00020 00220
00020 0.0220
00020 0.0220
00020 0.0220
00020 0.0220
10,0020 0.0220
00020 00220
00019 0.0219
00019 00219
00019 0.0219
00019 0.0219
00019 0.0219
00019 0.0219
00019 0.0219
00019 0.0219
018 0.0218
018 0.0218
018 00218
00018 0.0218
00018 0.0218
00018 0.0218
00018 0.0218
0.0018 00218
00017 0.0217
00017 0.0217
00017 0.0217
00017 0.0217
00017 00217
00017 00217
00017 0.0217
00017 0.0217
00016 0.0216
0.0016  0.0216
00016  0.0216
00016 0.0216
00016  0.0216
00016 0.0216
00016 0.0216
00016 0.0216
00016 0.0216
00015 0.0215
00015 0.0215
00015 0.0215
20,0015 0.0215
00015 0.0215
00015 0.0215
00015 0.0215
00015 0.0215

0.05
L
0.0299  0.0701
0.0299  0.0701
0.0299  0.0701
0.0300  0.0700
0.0300  0.0700
0.0300  0.0700
0.0300  0.0700
0.0300  0.0700
00301  0.0699
00301  0.0699
00301  0.0699
00301  0.0699
00301  0.0699
0.0302  0.0698
0.0302  0.0698
0.0302  0.0698
0.0302  0.0698
0.0303  0.0697
0.0303  0.0697
0.0303  0.0697
0.0303  0.0697
0.0303  0.0697
0.0304  0.0696
0.0304  0.0696
0.0304  0.0696
0.0304  0.0696
0.0304  0.0696
0.0305  0.0695
0.0305  0.0695
0.0305  0.0695
00305  0.0695
0.0305  0.0695
0.0306  0.0694
0.0306  0.0694
0.0306  0.0694
0.0306  0.0694
0.0306  0.0694
0.0307  0.0693
0.0307  0.0693
0.0307  0.0693
0.0307  0.0693
0.0307  0.0693
0.0308  0.0692
0.0308  0.0692
0-0308  0.0692
00308  0.0692
00308  0.0692
00309  0.0691
0.0309  0.0691
0.0309  0.0691

1%



. 2546

5

2544

. .2522

19

199
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